


1. In which country was Adolf Hitler born ?

(1) Germany (2) Poland
(3) Austria (4) Italy
e feeer fhd <o # ¥aT gor ?
(1) P (2) IS
(3) offfgam | (4) geel
2. Which of the following countries is an archipelago ?
(1) Peru (2) Poland (3) Philippines (4) Papua New Guinea
Pt 33 ¥ B S 7
(1) ¥ @ Wavs @) B @) woer = fed
3. Fiji comes under which of the continent ?
(1) Australia (Oceania) ’ (2) Asia
(3) Europe (4) Africa
foroht for weTEd H ® 7
(1) sifegforn (sRrentam) (2) ufwm
(3) T (4) smoTHT
4. Muhammad Yunus of Bangladesh was given Nobel Prize for ............
(1) Peace (2) Economics (3) Literature (4) Medicine
AR B TG GTT BT v T A REPR e |
(1) =mfs (2) ST (3) wfea (4) fafdear

5. Which Indian state has the largest area under forest cover ?

(1) Madhya Pradesh (2) Arunachal Pradesh
(3) Mizoram (4) Nagaland

for WRAT I H HAR A @ & 8 ?

(1) &g g9 (2) srevmad gawl

(3) fasw (4) AFTYS
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6. Which of the following state has shown population decline in 2011 census ?

(1) Sikkim (2) Goa (3) Kerala (4) Nagaland

fory Sroat & fwa) 2011 SO # S ¥ e il @ 2

(1) Riferpm (2) i (3) @l (4) ATTATS
7. When did India become a Sovereign Democratic Republic ?

(1) August 15, 1947 (2) June 22,1948

(3) November 26, 1949 (4) January 26, 1950

ARG & T YA~ YoITditd TORMY g1 ?

(1) 153, 1947 (2) 2297, 1948

(3) 26 7Ta¥ R, 1949 (4) 26 SFTERY, 1950

8. Which is the correct order of the four dynasties in terms of emergence ?

A. Guptas B. Sungas C. Sakas D. Mauryas
(1) A,D,B,C (2) D,A,C B 3) D,B,C, A (4) C,B,D, A
IR G B IqD IgHT B fog AL HH DIA-9T & ?

A. TE B. T C. u% D. #rd

(1) A, D,B,C 2} D AC B (3) D,B,C A 4) C,B,D, A

9. Which Battle of Panipat was fought between Babur and Lodi ?

(1) First (2) Second
(3) First and Second (4) Third
qIaR 3R AR H grid B - oS a9 T ?
(1) werH (2) fe<fra
(3) W ud fgeha 4) T

10. Who is the present chief of Naval Staff ?
(1) General Vikram Singh (2) Admiral Nirmal Verma
(3) Air Chief Marshal N. A. K. Browne (4) Admiral Devendra Kumar Joshi
CREIBIC eI e B o o
(1) 9 ~at faswy R (2) vsfira e ant
(3) WR A% A¥ THo To Fo AN (4) UsMRE Jaw FAR eh
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97. The spelling dialog box can be involved by choosing spelling from ................ menu.
(1) Insert (2) File (3) Tools (4) View
71 % | @1 Menu &1 997 &3 9 Spelling dialog box Gerar & ?
(1) Insert (2) File (3) Tools (4) View

98. What do you do to start the Slide Show ?

(1) Click on Go (2) Turn on transition

(3) Click on the slide show Icon (4) All of the above
Slide Show &1 % & & ford amy m e & ?

(1) Go @1 Click #% (2) Transition I =T &
(3) Slide Show Icon & fadctds &3 (4) SURIFT T

99. In Power Point, when Draw Table feature is on, then how the mouse pointer appears
from the following ?

(1) Solid plus sign (2) Solid arrow (3) I-beam (4) Pencil

Power Point # S1d Draw Table feature 9Te], €1 A1 mouse pointer 7 # | dur fawan
g7

(1) Solid plus sign (2) Solid arrow (3) I-beam (4) Pencil

100. Which type of template provides a design concept, fonts & colour scheme for
presentation ?

(1) Format (2) Design (3) Content (4) Normal
Presentation & forg f=1 # & H-91 template Ta fEwTz= concept, font Td@ colour
scheme a1 & ?

(1) Format (2) Design (3) Content (4) Normal

CJDEOT-2013/SET-W/(A)









E

5. Five hundred candidates appeared in three tests. The diagram below gives the
number of candidates who failed in different tests.

s
5

&,

What is the percentage of candidates who failed in all subjects ?

(1) 2 (2 8

(3) 10

(4) 26

o @t apar R ¥ & qdert €| fre R e el § swd I8 drell @) He

il

B
)

&

T gdeolf § Awd I89 arell &I ufoera @& § ?

(1) 2 @) 8

6. fa=fafad # 9 g& v g

(1) e (2) 3fr=s
7. “Yafffe &1 faam oe &
(1) s¥ada (2) anfeAa®
8. ‘Hferel e &1 e I ® ¢
(1) am= (2) EXa
9. BH ST el BT aney |
(1) IFEBR (2) Ff®R
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(3) 10

(3) B

(3) AT

(3) T

(3) a9

(4) 26

(4) SrET

(4) P

(4) T

(4) FRAR





















38. How many triangles are there in the figl.ire ?

1) 12 ) 14
SR 3 R Pt § 2
(1) 12 (2) 14

(3) 16

39. What will be the 10th term in the following series ?

355, 361, 367, ..

(1) 409

(2) 415

=1 ool § <wdl ug a7 B ?

305, 361, 367, ..

(1) 409

40. Find the number for the third circle :

49
64 81
36

1) 62

2) 34

SR g Y e @

49
36
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(1) 62

(2) 34

121

81@25 256@ 225
49 .

3) 60
121
49

(3) 60

(3) 410

(3) 410

196

169

196

@ 225

169

(4)

(4)

(4)

(4)

(4)

416

416

58

P.T-0.
























82. Which of the following is graphics solution for Word Processors ?

(1) Clip Art (2) Word Art (3) Drop Cap (4) None of the above
Word Processors @ forg 7 # @ 19-91 Uifthedd TaRm—g & 2
(1) Clip Art (2) Word Art (3) Drop Cap (4) SWRIFT | DI Tal

83. What is the default number of lines to drop for Drop Cap ?

(1) 3 (2) 10 (3) 15 (4) 20
Drop Cap @& forg fdst @ default ©9 & Feife gt & ?
(1) 3 (2) 10 (3) 148" . (4) 20

84. Pressing F8 key for three times selects :

(1) AWord . (2) A Sentence (3) A Paragraph (4) Entire document
F8 key @1 9 aR gaM | =1 & a1 dctae Brar & ?

(1) U® 3Teg (2) U®H qrg (3) wﬁm (4) T SIRFT

85. What happens when you click on Insert >> Picture >> Clip Art ?
(1) Itinserts a clip art picture into document
(2) It lets you choose clip art to insert into document
(3) It opens clip art task bar
(4) None of the above
9 39 Insert >> Picture >> Clip Art R fdelds dvd 2 a1 @1 g1ar g ?
(1) Document # Clip art picture Terar &
(2) Document # Clip art picture STa™ & II9 # Aqq Bxal &
(3) Clipart task bar @rerar &
(4) SRET & | $E T2

86. Which among the following is the latest dynasty ?

(1) Sungas (2) Sakas (3) Guptas (4) Mauryas
=1 a9 § H99 915 § B o7 ?
(1) gm (2) @ (3) T« (4) =rd
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A @ wfaar AfTd T 8P o g

(1) 3 : (2) 3 (3) WHTAD (4) rfed
2. g & fory v W g

e @Y gl

(1) e (2) forsmm (3) foronfasm (4) forfar
3. 98 ¥ aren fAwe g

(1) o o (2) ge (3) SR (4) ot
4. ﬂﬁmgﬁﬂ':

e FT MR ST 21 3 Hid R uftw @ R @S Bl 8| Siad uREre bl
gfte 2, gafey gaw 2, w2 ok #afamsl & uRkfad & 1

R &1 3l

(1) fda (2) =& g3 (3) faxqa (4) T gI
5. gd’ & P BT Y ®

(1) =afe (2) D (3) Ry (4) =RyeT
6. Your actions are not compatible .................. your arguments.

(1) upon (2) for (3) with (4) to

7. Which of the following words is nearest in meaning to the word "absolute’ ?

(1) reasonable (2) narrow (3) limitless (4) reliable
8. The river Yamuna is .......c.coceueue longest river of all.
(1) a (2) an (3) the (4) No article

9. Complete the sentence :
............. you carry your mobile phone to school ?
(1) Do (2) Does (3) Have (4) Either of the above
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féae auf # 1,000 %o, 10% aiffs Fwafs <= J 1,331 %o & WIE 2
(1) 3a9 (2) 4399 (3) 3.3a4 (4) 299

54. If Raju earns Rs. 5,650 every month as salary and an additional amount of 10%
towards house rent allowance, then the amount he is paying for the house rent at the

rate of 20% shall be ....................... '

(1) Rs. 1,800 - (2) Rs.1,243 (3) Rs. 2,500 (4) Rs. 1,650
a%wqao-r%m%mqsoamwﬁrﬁaawmﬁw10%m-sﬁa¢%‘a‘fagqaa—r:raa
forq fm R A BT 20% @I AT & T oo K

(1) 1,800 %0 - (2) 1,243 %o (3) 2,500 %o (4) 1,650 %o

55. The area of two squares is 468 cm?. The sides of the squares are in the ratio of 4 : 6.
What is the area of the smaller square ?

(1) 256 cm? (2) 225 cm? (3) 196cm? (4) 144 cm?
<Y gl 1 rba 468 T Voo ¥ | AT A YT 4 : 6 B o F F| B T BT &IH
T e ?

(1) 256 Holo  (2) 225 a7 WoHlo  (3) 196 a7 WoHlo (4) 144 T Holo

56. The maximum number of rows in a worksheet are .......... .
(1) 128 (2) 256 (3) 65536 (4) 64536
ghe ¥ fread fea rows Bl € 7

(1) 128 (2) 256 (3) 65536 (4) 64536

97. The accounting style shows negative numbers in .............. i

(1) Parentheses (2) Quotes

(3) Bold _ (4) Brackets
Accounting Style # negative numbers =1 3 ¥ fared faarar g ?
(1) Parentheses (2) Quotes

(3) Bold (4) Brackets
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58. You can add a hyperlink to your worksheet by PIeBSINGE ciuscsnssnsinnt o

(1) Alt+K (2) Ctrl + H

3) Ctl+K (4) Ctrl + Shift + K
Worksheet # hyperlink STe & forv fes § & fary gamt 2
(1) Alt+K (2) Ctrl+ H

(3) Ctrl + K | (4) Ctrl + Shift + K

.59. What does SUMIF function do ?
(1) Adds up cell values based on a'condition
(2) Adds all the numbers in a range of cells
(3) Returns a subtotal in a list or database

(4) All of the above

SUMIF function &7 /T &9 & ?

(1) Us ¥1d & AR cell values &1 SII€ AT
(2) Range of cells & ! numbers &1 FreT

(3) U® list AT database @ subtotal return HIAT

(4) ST

60. The view that puts a blue line around each pége that would be printed is the
(1) Print Preview (2) Normal View
(3) Page Break View (4) Split View
=1 # & B4 view ST fb blue line A forT 81T 2 @ik fife fvam iar @ 2
(1) Print Preview (2) Normal View |
(3) Page Break View (4) Split View

61. = & ¥ a1 g+ ¢ ‘
(1) 3R Aradl wer H ggar & (2) 3B AT FeT H U &
(3) 3R A H ygar § (4) SBR AT Pem H U ¥ |
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76. Find the numbers for the blanks :

a 8
125| p4

(1) 4,27 (2) 343,81 3) 1,27 (4) 49,27

Ret =t & fog T @
_ ela'b .

125| 64

(1) 4,27 (2) 343,81 ' (.3) 127 (4) 49,27

77. Choose the odd one :
(1) Teacher (2) Doctor (3) Lawyer (4) Engineer
ELCICE
(1) 3regHs® (2) Ffeas (3) @ard " (4) SONfIR (arfdr=)

78. Complete the analogy :
Lawyer : Client : : ..............
(1) Doctor : Patient (2) Student : Pupil
(3) Mechanic : Automobile (4) Stenographer : Letter
OIS : FAFDHA © ¢ o
(1) Ffdeas : MR (2) faenef : Rrsg
(3) fred : AT (4) smgfole : o

79. Complete the analogy :
Ear: Sound &: s
(1) Hear : See (2) Eye:Light (3) Smell : Listen (4)’ Hand : Fist
G B R | |

(1) oo : 3@ (2) off : Ut (3) W07 A (4) B : s
CJDEOT-2013/SET-W/(C) | |










































36. Complete the sentence :
L T— go to the beach yesterday.
(1) do not (2)  has not (3) did not (4) had not

37. Which one of the following is correct word ?
(1) Conquerer (2) Conquoror (3) Congeror (4) Conqueror

38. Antonym of Contamination :
(1) Purification (2) Forgetfulness (3) Prejudice (4) Exonerate

39. Choose the Word or Phrase which is nearly same to the keyword ABSOLUTE :
(1) Formality - (2) Full (3) Complete (4) Fit

40. Which of the following word is opposite in meaning of the word 'Lively'?

(1) Racy (2) Spirited (3) Vivid (4) Dull
41. Your actions are not compatible .................. your arguments.
(1) upon (2) for (3) with (4) to

42. Which of the following words is nearest in meaning to the word 'absolute’ ?

(1) reasonable (2) narrow (3) limitless (4) reliable
43. The river Yamuna is ... longest river of all.

(1) a (2) an (3) the (4) No article

44. Complete the sentence :
............. you carry your mobile phone to school ?

(1) Do (2) Does ~ (3) Have (4) Either of the above

45. Which of the following words is correct 7

(1) Aclaim (2) Aklaim (3) Acclaim 4) Aclame

46. Typical bandwidth of optical fibre is :
(1) Order of GHz (2) Order of KHz (3) Order of Hz (4) Order of MHz
Optical Fibre @ fafire Bandwidth &

(1) GHz H (2) KHz % (3) Hz# (4) MHz #
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